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Think Discuss And Write

1. A taxi- driver filled his car petrol tank with 40

litres of petrol on Mondy.The next dayhe filled

the tank with 50 litres of petrol.If the petrol


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_7CUjI1p5DXUd

costs Rs.44 per litrehow much did he spend in

all on petrol?

° Watch Video Solution

1. Refer to the graph given in fig.

How much petrol can be bought for Rs.600?


https://dl.doubtnut.com/l/_7CUjI1p5DXUd
https://dl.doubtnut.com/l/_hII80UyNRRM1

o Watch Video Solution

2. Is the following Direct variation or Inverse
variation?

Distance covered and taxi fare.

o Watch Video Solution



https://dl.doubtnut.com/l/_hII80UyNRRM1
https://dl.doubtnut.com/l/_oIp8v3bfPiF2

1. The following graph shows the tempreature

of a patient in a hospital,recorded every hour.


https://dl.doubtnut.com/l/_oIp8v3bfPiF2
https://dl.doubtnut.com/l/_IxNGvhi33fxg

What was the patient's temperature at 1p.m.?

o Watch Video Solution

2. The following graph shows the tempreature

of a patient in a hospital,recorded every hour.


https://dl.doubtnut.com/l/_IxNGvhi33fxg
https://dl.doubtnut.com/l/_nrBWa4ctLTJt

What was the patient's temperature at 1p.m.?

o Watch Video Solution

3. The following graph shows the tempreature

of a patient in a hospital,recorded every hour.


https://dl.doubtnut.com/l/_nrBWa4ctLTJt
https://dl.doubtnut.com/l/_lghdYCsUcxSx

When was the patient's temperature was the
same two times during the period is
given.What were these two times?

|

L

o Watch Video Solution

4. The following graph shows the tempreature
of a patient in a hospital,recorded every hour.

What was the temperature at 1.30 pm. ?How


https://dl.doubtnut.com/l/_lghdYCsUcxSx
https://dl.doubtnut.com/l/_LWKRe0cO6RhW

did you arrive at your answer ?

° Watch Video Solution

5. The following graph shows the temperature

of a patient in a hospital,recorded every hour.


https://dl.doubtnut.com/l/_LWKRe0cO6RhW
https://dl.doubtnut.com/l/_3f2h1RYaVGJT

During which periods did the patient's

temperature showed an upward trend?

&2

o Watch Video Solution

6. The following line graph shows the yearly
sales figures for a manufacturing company:

What were the sales in (i) 2002 (ii) 2006?

&2

° Watch Video Solution



https://dl.doubtnut.com/l/_3f2h1RYaVGJT
https://dl.doubtnut.com/l/_qiQIXJl9qyzk
https://dl.doubtnut.com/l/_ajBTyzwZC2qh

7. The following line graph shows the yearly
sales figures for a manufacturing company:
What were the sales in (i) 2002 (ii) 2006?

Lo

° Watch Video Solution

8. The following line graph shows the yearly
sales figures for a manufacturing company:
What were the sales in (i) 2002 (ii) 2006?

L&

l ° Watch Video Solution


https://dl.doubtnut.com/l/_ajBTyzwZC2qh
https://dl.doubtnut.com/l/_kjbB5yljvqrs

9. The following line graph sows the yearly
sales figures for a manufacturing company.
What were the sales in:

2003,2005

|

L

° Watch Video Solution

10. The following line graph shows the yearly

sales figures for a manufacturing company:


https://dl.doubtnut.com/l/_kjbB5yljvqrs
https://dl.doubtnut.com/l/_fumDJQQNv03y
https://dl.doubtnut.com/l/_K4467Isi55XZ

Compute the difference between the sales in

2002 and 2006.

| =

L

° Watch Video Solution

11. The following line graph shows the yearly
sales figures for a manufacturing company: In
which year was there the greatest difference
between the sales as compared to its previous
year?

|

L

| e |


https://dl.doubtnut.com/l/_K4467Isi55XZ
https://dl.doubtnut.com/l/_HxdAGTViyej5

| L ® Watch Video Solution

12. For an experiment in Botanytwo different
plants, plant A nad plant B were grown under
similar laboratory conditions.Their heights
were measured at the end of each week for 3
weeks.The results are shown by the following

graph.


https://dl.doubtnut.com/l/_HxdAGTViyej5
https://dl.doubtnut.com/l/_OqRNOjU1xra0

During which week did Plant A grow most?

o Watch Video Solution

13. For an experiment in Botanytwo different

plants, plant A nad plant B were grown under


https://dl.doubtnut.com/l/_OqRNOjU1xra0
https://dl.doubtnut.com/l/_g3iU2TnB5F3y

similar laboratory conditions.Their heights
were measured at the end of each week for 3
weeks.The results are shown by the following

graph.

During which week did Plant A grow most?

o Watch Video Solution



https://dl.doubtnut.com/l/_g3iU2TnB5F3y

14. For an experiment in Botanytwo different
plants, plant A nad plant B were grown under
similar laboratory conditions.Their heights
were measured at the end of each week for 3
weeks.The results are shown by the following

graph.


https://dl.doubtnut.com/l/_g3iU2TnB5F3y
https://dl.doubtnut.com/l/_heGLklcTf8M7

During which week did Plant A grow most?

o Watch Video Solution

15. For an experiment in Botanytwo different

plants, plant A nad plant B were grown under


https://dl.doubtnut.com/l/_heGLklcTf8M7
https://dl.doubtnut.com/l/_AY0bm7T8j1D6

similar laboratory conditions.Their heights
were measured at the end of each week for 3
weeks.The results are shown by the following
graph.

How high was plant A after

2 weeks?


https://dl.doubtnut.com/l/_AY0bm7T8j1D6

3 weeks?

o Watch Video Solution

16. For an experiment in Botanytwo different

plants, plant A nad plant B were grown under


https://dl.doubtnut.com/l/_AY0bm7T8j1D6
https://dl.doubtnut.com/l/_L6zT7GXu58sm

similar laboratory conditions.Their heights
were measured at the end of each week for 3
weeks.The results are shown by the following

graph.

During which week did Plant A grow most?

o Watch Video Solution



https://dl.doubtnut.com/l/_L6zT7GXu58sm

17. For an experiment in Botanytwo different
plants, plant A nad plant B were grown under
similar laboratory conditions.Their heights
were measured at the end of each week for 3
weeks.The results are shown by the following
graph.

How high was plant A after

2 weeks?


https://dl.doubtnut.com/l/_L6zT7GXu58sm
https://dl.doubtnut.com/l/_ZHUkjjH2ES9g

3 weeks?

o Watch Video Solution

18. For an experiment in Botanytwo different

plants, plant A nad plant B were grown under


https://dl.doubtnut.com/l/_ZHUkjjH2ES9g
https://dl.doubtnut.com/l/_gF5hcjpeh3uZ

similar laboratory conditions.Their heights
were measured at the end of each week for 3
weeks.The results are shown by the following

graph.

During which week did Plant A grow most?

o Watch Video Solution



https://dl.doubtnut.com/l/_gF5hcjpeh3uZ

19. For an experiment in Botany, two different
plants, plant A and plant B were grown under
similar laboratory conditions. Their heights
were measured at the end of each week for 3

weeks. The results are shown by the following

graph:
14
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During which week did Plant B grow least ?


https://dl.doubtnut.com/l/_gF5hcjpeh3uZ
https://dl.doubtnut.com/l/_ykM1oReCw5lM

° Watch Video Solution

20. For an experiment in Botanytwo different
plants, plant A nad plant B were grown under
similar laboratory conditions.Their heights
were measured at the end of each week for 3
weeks.The results are shown by the following
graph.

Were the two plants of the same height


https://dl.doubtnut.com/l/_ykM1oReCw5lM
https://dl.doubtnut.com/l/_u1v59rQl8mAc

during any week shown here ?Specify.

o Watch Video Solution

21. The following graph shows the

temperature forecast and the actual


https://dl.doubtnut.com/l/_u1v59rQl8mAc
https://dl.doubtnut.com/l/_BsdGo20adMBF

temperature for each day of a week.

- Forecast —— Actual

Temperature (°C)—
momE2REH
K

Mon Tue Wed Thu Fri Sat Sun
Days—

On which days was the forecast temperature

the same as he actual temperature?

o Watch Video Solution

22. The following graph shows the

temperature forecast and the actual


https://dl.doubtnut.com/l/_BsdGo20adMBF
https://dl.doubtnut.com/l/_FnlsFMPI2gsP

temperature for each day of a week.
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What was the maximum forecast temperature

during the week?

o Watch Video Solution

23. The following graph shows the

temperature forecast and the actual


https://dl.doubtnut.com/l/_FnlsFMPI2gsP
https://dl.doubtnut.com/l/_AaCxbMg0qJP1

temperature for each day of a week.

wee Forecast ——Actual

s
3

Temperature (°C)—
wnaoka ERER

Mon Tue Wed Thu Fri Sat Sun
Days —

What was the minimum actual temperature

during the week?

o Watch Video Solution

24. On which day did the actual temperature

differ the most from the forecast temperature


https://dl.doubtnut.com/l/_AaCxbMg0qJP1
https://dl.doubtnut.com/l/_XiBzTWg4fGQb
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o Watch Video Solution

25, Use the tables below to draw linear graphs.

The number of days a hill side city recived


https://dl.doubtnut.com/l/_XiBzTWg4fGQb
https://dl.doubtnut.com/l/_9s6ciAYkdMqe

show in different years.

o Watch Video Solution

26. Use the tables below to draw linear graphs.

Population (in thousads ) of men and women

in a village in different years:

° Watch Video Solution



https://dl.doubtnut.com/l/_9s6ciAYkdMqe
https://dl.doubtnut.com/l/_BOeZyYqmoQjk

27. A courier-person cycles from a town to a
neighbouring burban area to deliver a parcel
to a merchant. His distance from e town at
different times is shown by the following

graph:

£
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What is the scale taken for the time axis ?


https://dl.doubtnut.com/l/_BOeZyYqmoQjk
https://dl.doubtnut.com/l/_fDsx7Qd8qrvi

° Watch Video Solution

28. A courier -person cycles from a town to a
neighbouring suburban area to deliver a
parcel to a merchant His distance from the
town at different times is shown by the
following graph:

How much time did the person taken for the

travel ?

° Watch Video Solution



https://dl.doubtnut.com/l/_fDsx7Qd8qrvi
https://dl.doubtnut.com/l/_uKNsJqjEKS1Q
https://dl.doubtnut.com/l/_vrLySmq7tZjK

29. A courier -person cycles from a town to a
neighbouring suburban area to deliver a
parcel to a merchant His distance from the
town at different times is shown by the
following graph:

How much time did the person taken for the

travel ?

o Watch Video Solution

30. A courier -person cycles from a town to a

neighbouring subrban area to deliver a parcel


https://dl.doubtnut.com/l/_vrLySmq7tZjK
https://dl.doubtnut.com/l/_Zq41kX03wnBY

to a merchant .His distance from the town at
different times is shown by the following
graph:

Did the person stop on his way ?Explain.

o Watch Video Solution

31. A courier -person cycles from a town to a
neighbouring subrban area to deliver a parcel
to a merchant .His distance from the town at

different times is shown by the following


https://dl.doubtnut.com/l/_Zq41kX03wnBY
https://dl.doubtnut.com/l/_UlCC68a0tVUx

graph:

During which period did he ride fastest ?

° Watch Video Solution

32. Can there be a time -temperature graph as

follows ?Justify your answer .

&2

° Watch Video Solution



https://dl.doubtnut.com/l/_UlCC68a0tVUx
https://dl.doubtnut.com/l/_KstzgW7Ii04p
https://dl.doubtnut.com/l/_TTgamOZ86Qe8

1. Plot the following points on a graph sheet
Verify if they lie on a line.

A (4,0),B(4,2),C(4,6),D(4,2.5).

o Watch Video Solution

2. Plot the following points on a graph sheet
Verify if they lie on a line.

P(1,1),9(2,2),R(3,3),5(4,4).

o Watch Video Solution



https://dl.doubtnut.com/l/_TTgamOZ86Qe8
https://dl.doubtnut.com/l/_xhAP1lLVITwK
https://dl.doubtnut.com/l/_WB9QKcQBksDv

3. Plot the following points on a graph sheet
Verify if they lie on a line.

K(2,3),L(5,3),M(5,5),N(2,5).

o Watch Video Solution

4. Draw the line passing through(2,3) and
(3,2).Find the co-ordinates of the points at

which this line meets the x-axis and y-axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_WB9QKcQBksDv
https://dl.doubtnut.com/l/_gfzB9UOBXila

5. Write the coordinates of the vertices of each

of these adjoining figures.
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° Watch Video Solution



https://dl.doubtnut.com/l/_zBbduv2cqcte

6. State whether True or False.Correct that are
false.
A point whose x-co-ordinate is zero and y-co-

ordinate is non - zero will lie on the y - axis.

o Watch Video Solution

7. State whether True or False.Correct that are
false.
A pont whose y-co-ordinate is zero and x-co-

ordinate is 5 will lie on y-axis.

| & I


https://dl.doubtnut.com/l/_z6r3HvhZSTnn
https://dl.doubtnut.com/l/_kyXO7jwLUgLj

| ¥ Watch Video Solution |

8. State whether True or False.Correct that are
false.

The co-ordinates of the origin are (0,0).

o Watch Video Solution

1. Draw the graphs for the following tables of

values , with suitable scales on the axes .


https://dl.doubtnut.com/l/_kyXO7jwLUgLj
https://dl.doubtnut.com/l/_M1p1hh04yJG0
https://dl.doubtnut.com/l/_91CiOH1FSoY4

Cost of apples

Number of apples 1 2 3 4 -
Cost (in %) 5 10 15 20 25

° Watch Video Solution

2. Draw the graphs for the following tables of
value ,with suitable scales on the axes.
Distance travelled by a car.

What was the time when the car had covered a


https://dl.doubtnut.com/l/_91CiOH1FSoY4
https://dl.doubtnut.com/l/_3fYXLaD6kneW

distance of 100 km,since it's start ?

o Watch Video Solution

3. Draw the graphs for the following tables of
value ,with suitable scales on the axes.
Distance travelled by a car.

What was the time when the car had covered a


https://dl.doubtnut.com/l/_3fYXLaD6kneW
https://dl.doubtnut.com/l/_ttTAXXGFYJWs

distance of 100 km,since it's start ?

o Watch Video Solution

4. Draw the graphs for the following tables of
value ,with suitable scales on the axes.
Interest n deposits for a year.

Does the graph pass thorough the origin?

&2

| s |


https://dl.doubtnut.com/l/_ttTAXXGFYJWs
https://dl.doubtnut.com/l/_x4tfKV2f9qMP

| @ watch Video Solution ]

5. Draw the graphs for the following tables of
value ,with suitable scales on the axes.

Interest n deposits for a year.

Use the graph to find the interest on Rs.2,500

for a year.

&2

o Watch Video Solution



https://dl.doubtnut.com/l/_x4tfKV2f9qMP
https://dl.doubtnut.com/l/_7LllAmwxA2HO

6. Draw the graphs for the following tables of
value ,with suitable scales on the axes.

Interest n deposits for a year.

To get an interest of Rs.280 per year,how much
money should be deposited.

L.

L

o Watch Video Solution



https://dl.doubtnut.com/l/_P5Ud5Lv4jZOD

7.Draw a graph for the following:

Sideofsquare | 2 | 3 [35|5 | 6
(in'cm) _

Perimeter | 8 | 12 | 14 |20 |24 |
(in em) - :

Is it a linear graph ?

o Watch Video Solution

8. Draw a graph for the following:

Sideufsquam 2 13 4 |5 |6
(in cm)
Area(inem® |4 |9 |16 25 |36



https://dl.doubtnut.com/l/_HQoSaXmCEDbq
https://dl.doubtnut.com/l/_UDX1FU7IzbIN

Is it a linear graph ?

° Watch Video Solution



https://dl.doubtnut.com/l/_UDX1FU7IzbIN

